Assignment 32
Ex 16.9.1 Using F = (3z,y>, —22%) and the region bounded by

z° + y2 =9, 2= 0, and z = 5, compute both integrals from the
Divergence Theorem.

Sggv-ﬁav:\Qg 3+zf+«%%d\/ regin -

¥‘f~—1—h\ 3
2T 2 < -
_ S & \ (3+3(r;&\63——‘{%>r‘é2:4y%

0

D [Fa st s e

2. $
Tg% 2 AIC SO T “tr%\ drdo

o
0

~ . dr 1&
= \w&% 1S + 1S e © ~ 2 28T
o "y

_ S’Z‘YT_ 1{‘? AL \g.g\éc“'ze ’_’lg-;? de

= 4

= . 19 554 SEL N L TB 2048

. T g o
- }1-"

1§59 S G + 15 5l > 5 1€\ auWe \

= ( = T Y 2 0
lf—? _ . + (s - 9’ —r"

= (FEoefr e =

—

;% Top ¥ side botfoun \SP-NA,S F:<3*,33/ -22% >
"k

2
3
_ L 5 _ .
lop” =< WSy WSV, <7 S x <3u ZENRN sm3\/) 0 >-{o,0 WOdudy
(o]

1~ .
. = <Co§k/)5““‘/,0->

o
- :</u9\\v\\/,“\‘°5"/°> \ZWKB—S‘O“&“AV = -25 G2

— - 2 -2
= W tel v WS V>
TRy <o/O)

—.—.40/ o u.>



2T 2

Eb‘l‘\—aw\ - :<U\¢OSV‘ WSV o> <3uu.osv/L~S\ v o> <D o —u.> dudv

- = 0 Vs
,\FW\I:<D'OIQ>_ 2w 3
use <OIO ‘—lL> Of\t»ck’e_é, - g S O Audu = O
/ - o o
2T
SR < [,osbkl—$$l;\l/\)\/> S%
Fm {=3s&m, 3cosu O > 5 O
";< () O ) \>

p
xn - <L ngu)35~%u)o>

- P‘—<qc,o3w)27sﬂn2v\)"‘\\/1'>

= OL& mu O é'\/éU\
& <9€o§m 27 sidw ——‘{u >+ 3cos s , %

A 2 prsd) v| a
R g 27 LQ}S\& 4+ X1 sxmq A\/ w - \LQ’?LO%& \Swm , Y.
(o]
0

210
g C1 ppctn +T-F16w T A
0]

2
2T og?__ - |- CoS2Zu
0

2T
S 27 N §7—7 os2ul +§ ‘Z{\ (\ — ) cos2uL + COS Zw) dac

';_
|4 eosHu
_ rgl"? T27 cog2u = $&) (1 2 eos2u A —"’—;’_5 .
- — =
O ¢
« Cos T |
_ Al S'J_?“_ S;’Z_z (,ogz-l« + S-g\ ( % ’z_c_gglu + 5 ) U_
0 = ks L____’—/\
2T
- \ G272 LS 813 +<£.?,7 +§91L13>Q,52u\+ £ el da
- g Y ¥
(6]
2T
= £:27 5603 s27 SR\ sd2w 4 S8 gxln‘(u\\
sl 8 el 22 il VoS
( 2 =4 )U\_‘\’( 2 - A < Ly

< - < - —%
= L‘g' 27 C‘;E >2-rr—

P~

- —

—WD?{— otz +sde = —2D57.5. 27T + 0O _‘_(f 27 C'&"3>2~r = 4T —



Ex 16.9.3 Let E be the volume describedby 0 < 2 < 1,0 <y <1,
0<2<1, andF=(2xy,3xy,ze”y>.Compute/ F-NdS. @
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Ex 16.9.5 Let E be the volume described by z° + y* + 2% < 4, and
F = (m3,y3,z3).Compute/ F-Nds.
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Ex 16.9.6 Let E be the hemisphere described by

0<z</1-2%—y? and
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